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Which of the following statement is true?

a. Haptens are immunogenic b. Haptens are antigenic

¢. Haptens-carrier conjugate is d. Hapten-lipid conjugate is
immunogenic immunogenic

Why IgM has an extra domain in its structure?

a. Question is wrong b. Because of extra amino acids

¢. Because of an extra 3 sheets d. Because of intrachain disulphide bond

Secretory component in IgA is derived from a pathway called:

a. Opsonization b. Receptor mediated endocytosis

¢. ADCC d. Phagocytosis

Which of the following does not explain antibody structure?
a. 2 f pleated sheets with antiparallel f§ b. Variable domain of 110 amino acids

strands due to intrachain disulphide bond
¢. H-L chains are stabilized by d. Hydrophobic side chains inside and
interchain disulphide linkage hydrophilic side chains outside the

antibody structure

Properdin increases the half-life of:

a. C5b6 b. C4b2b

c. C3bBb d. C3bBb3b

C5 convertase is otherwise:

a. C4b2a3b b. C3bBb3b

¢. Bothaandb d. Clq4b3b

Which of the following determine the binding of a peptide to MHC complex?
a. Peptide binding cleft of MHC b. The presence of CLIP

¢. Size of the antigenic peptides d. All of the above

How resulls are analysed in RIA?

a. Measure the number labeled Ag b. To assess the number free unlabeled Ag
attached to Ab

¢. Toassess the number free labeled Ag  d. None of the above

What is the outcome of infiltration of inflammatory cells during graft transplantation?
a. Killing of histoincompatible cells b. Necrosis occurring within 10t day
¢. No vascularization d. All of the above

How C5b of complement activation is involved in opsonization?

a. Upregulation of CR b. Increase in the generation of C3b

¢. Downregulation of CR d. Increase production of Abs

How to increase the efficacy of DNA vaccines, which is supposed to be the advanced

hypothesis?

a. Insertion of antigenic protein gene b. Insertion of more than one gene
along with gene for chemokines encoding proteins

¢ A marker gene d. All of the above
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Time : 2 hr. 30 mins. Marks : 50

[ Answer question no.1 & any four (4) from the rest ]

What are vaccines? Why is it important to take attenuated strains 1+1+2+42+2+2=10
for recombinant vaccine? Between attenuated and inactivated

vaccine, which one is has more advantage? Explain in your own

words. What is the importance of dendritic cells expressing

antigenic proteins? Justify your answer. How will you interpret the

results of competitive ELISA? A patient was infected with

Streptococcus. How will you determine the amount of the bacteria

in solution? Explain the process.

Explain the structure of thymus with a neat diagram. What is the 3+3+2+2=10
mechanism of neutralization of infection in MALT? Explain the

process and give the importance of germinal center in the process.

An injection containing a pathogen was given to an individual in

his muscles. Explain in your own words how they will encounter

lymphocytes and in which organ of the body. How can you

differentiate between a monocyte and an active macrophage?

Werite it in your own words.

Explain the structure of antibodies with help of IgE and write about ~ 3+2+2+1+2=10
its function. An individual was transfused for the first time with

blood A when his blood type was B leading o its immediate

rejection. Explain how an immediate response occurred. Explain

how preformed antibodies against blood group antigens are

produced in an individual. What is the importance of CD28 receptor

on B cell membrane? Will there be any effect if there is an

abnormality in the expression of CD28? Explain in your own words.

Explain in your own words the role of adjuvants in increasing the 2+1+1+2+2+2=10
response during vaccination. What is the use of monoclonal

antibodies in home pregnancy test kit and are produced against

which hapten? How maternal antibodies give protection to the

fetus? What were the experiments performed to find out the arms of

an antibody? Explain it in your own language. What was the use of

homogenous antibodies in antibody sequencing? According to you

which class of MHC is important activate immune response? Justify

your answer.

Explain the structure of MHC I molecules with a neat diagram. 3+2+1+2+2=10
What are the chances of transplantation between outbred

population? Explain your answer in relation to polymorphism of

MHC genes. Differentiate between affinity and avidity. What are

the similarities and difference between precipitation reaction done

in fluids and in gel? Explain the method of rocket electrophoresis.

Interpret the precipitation curve with a diagram.

3 USTM/COE/R-01






